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- C2 : relatively palliative resection
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HH 17 404 | 98.3 | 80.4 | 38.7 | 0.0 | 87.5 | 100.0 [ 100.0 | 100.0
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O #ig Rz FUdsistan] A8
- Fyaidel He o W71, 1313 regimen(8H, §% Fo199), F32E Aud
SR} dAsh= A9

< dxd F43sted >

1) 5-FU/Leucovorin
* Leucovorin 500mg/ m’, 13]/5X6, 5-FU 500mg/ ', 13]/FX6, 85
* 5-FU 370-425mg/m’ + Leucovorin 20-200mg/m’ dailyX5%, 28%

4, 433}
4, 6313

2) Capecitabine
* Capecitabine 1250mg/m’, 23]/, 1~14¥, 35 +4, 83| %}

3) FLOX
* 5-FU 500mg/m’, IV bolus 13]/5X6
Leucovorin 500mg/m* IV X6, 7+ 85
Oxaliplatin 85mg/m’ IV 85 3 1, 3, 55 F, 333}

4) FOLFOX 4
* Oxaliplatin 85mg/m’ 1V, day 1
Leucovorin 200mg/m’ 1V, day 1, 2
5-FU 400mg/m’ IV bolus, 600mg/m’ continuous infusion, day 1&2, 25 7+4, 1233}

5) mFOLFOX 6
* Oxaliplatin 85mg/m’' 1V, day 1
Leucovorin 400mg/m’ 1V, day 1
5-FU 400mg/m’ IV bolus day 1,
5-FU 1200mg/m’/day X 2 day (total 2400mg/ m* over 46-48hours) continuous
infusion 2+ 7+4, 123] =}
6) LV5FU2
* Leucovorin 200mg/m’ IV day 1&2
5-FU 400mg/m’ IV bolus then 600mg/m’ continuous infusion day 1&2, 25 F4, 123}

7) sLV5SFU2
* Leucovorin 400mg/m’ IV over 243}, day 1
S5FU 400mg/m’ IV bolus day 1, 1200mg/ m’/day X 2 day (total 2400mg/m’
over 46-48hours) continuous infusion 25 3+4, 123] 2}
8) CapeOx
= Oxaliplatin 130mg/m’ over 24|}, day 1

Capecitabine 1000mg/m’, 23]/, 1~14%, 35 3+4, 83| A}
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(o) H >4 (o)
(HAMQ 71 MMM mW) X HEEY Zif @9
o I3 %)
Al AptH 7|
BIIKEY & ;"lj E”]g = - -
= = Hd =HZAH F22E | Q1 =Ugt | Q3 F|CH gk
e | 227 | - | 720 | 286 | 307 | 33.3 | 66.7 | 100.0 | 100.0
(KIE 1] sz=st| 42 | - | 1000 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
H2® P HF  zaumer| 164 | — | 691 | 275 | 30.7 | 33.3 | €6.7 | 100.0 | 100.0
Hel | o ~ | 393 | 156 | 333 | 333 | 333 | 333 | 91.7
®Ma | 227 | 98.7 | 838 | 354 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0
(XIE 2] az=zst| 42 11000 | 100.0 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
o 5 HO HIE| oo | 164 | 974 | 803 | 382 | 0.0 | 925 | 100.0 | 100.0 | 100.0
wel | 21 [ 975 | 795 | 39.9 | 00 | 949 | 100.0 | 100.0 | 100.0
®Md | 207 | 970 | 795 | 358 | 00 | 78.6 | 100.0 | 100.0 | 100.0
[XI& 3] MZZEs| 42 | 992 993 | 1.2 | 953 | 98.8 | 100.0 | 100.0 | 100.0
45 ® Y
ZALA#E | EEEY| 148 | 945 | 75.0 | 38.0 | 0.0 | 57.7 | 97.6 | 100.0 | 100.0
wel | 17 | 966 | 705 | 436 | 0.0 | 33.3 | 100.0 | 100.0 | 100.0
®Mx | 227 | 988 | 85.0 | 344 | 00 | 100.0 | 100.0 | 100.0 | 100.0
[XI2 4] az=st| 42 [100.0| 1000 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
EHAso 2R
mop 7= | SEWR| 164 | 97.4 | 81.8 | 37.1 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0
el | 21 | 987 | 80.3 | 40.0 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0
®Mx | 200 | 991 | 943 | 188 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0
[X|2 5] sz=zst| 42 | 998 | 998 | 06 | 96.5 | 100.0 | 100.0 | 100.0 | 100.0
= F 08 LY
CEA ZIAF A4S | ZE2 | 151 | 984 | 925 | 215 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0
sHel | 16 | 98.9 | 96.7 | 12.5 | 50.0 | 100.0 | 100.0 | 100.0 | 100.0
®Ma | 222 | 986 | 933 | 21.7 | 00 | 100.0 | 100.0 | 100.0 | 100.0
[XI % 6] szzst| 42 | 998 | 998 | 06 | 971 | 100.0 | 100.0 | 100.0 | 100.0
RNy
Jl= M8 | ZsEY| 161 | 97.3 | 921 | 229 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0
el | 19 | 98.4 | 89.3 | 315 | 0.0 | 100.0 | 100.0 | 100.0 | 100.0




chol: J]r %)
J|gr
_ | oy e
BHK B S 7|;{ g;
| B | ma gzma g4z | Q1 | 5%% | Q3 | Az
A 211 96.8 85.9 26.9 0.0 86.7 99 1 100.0 | 100.0
[X& 7] M=5E 42 98.6 98.4 2.9 84.2 97.9 100.0 | 100.0 | 100.0
24 gmy =R
ol HALs =2l | 152 94 .5 83.1 28.1 0.0 81.6 97.7 100.0 | 100.0
He 17 08.3 80.4 38.7 0.0 87.5 100.0 | 100.0 | 100.0
A 175 97.4 90.3 25.9 0.0 100.0 | 100.0 | 100.0 | 100.0
[XIE g
TE F 8% Ol Ma5E 42 98.7 98.7 4.9 69.0 100.0 | 100.0 | 100.0 | 100.0
?_-I-Tl_EI EE o o H . . . . . . . .
stolsistay AME .
Stagell o | ZEE | 119 | 958 | 87.2 | 204 | 0.0 | 1000 | 100.0 | 100.0 | 100.0
o) ~I1]
He 14 97.3 92.1 26.6 0.0 08.1 100.0 | 100.0 | 100.0
A 168 98.9 97.2 12.1 0.0 100.0 | 100.0 | 100.0 | 100.0
[X1& 9] Ma5E 42 99.5 99.4 2.9 81.5 100.0 | 100.0 | 100.0 | 100.0
AnE B
slololstoH ANHE| SetER | 113 98.1 96.0 14.6 0.0 100.0 | 100.0 | 100.0 | 100.0
He 13 100.0 | 100.0 0.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0
A 73 85.1 79.9 38.1 0.0 100.0 | 100.0 | 100.0 | 100.0
[X1& 10] MNa5E 27 100.0 | 100.0 0.0 100.0 | 100.0 | 100.0 | 100.0 | 100.0
s = uAM
AES [2FE] SerEe 40 78.5 72.8 41.8 0.0 50.0 100.0 | 100.0 | 100.0
He [§) 61.1 36.7 49.7 0.0 0.0 10.0 100.0 | 100.0
fA | ooa | - | - | - | - | - | - | - | -
[R1&® 11] Ma5E 42 1.0 - - 0.78 0.96 1.09 1.18 1.39
g
7|12 RE[U] ZeER | 162 1.0 - - 0.07 0.90 1.05 1.21 2.05
He 20 1.0 - - 0.71 0.95 1.00 1.13 1.95
A oo | - | - | - | - | - | - | - | -
[XIE 12] :
=5t — —
ol2I x| ZH| MNE25E 42 1.0 0.77 0.95 1.02 1.07 1.27
DS REC] | oo
SerEe . - - . ) . i )
(BLIE{! X|E) 3 140 1.0 0.35 0.85 0.96 1.1 1.65
He 20 1.0 - - 0.78 0.87 0.98 1.02 1.31
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HIXEH = gﬂlj EH%O;g
= = HA BEEHEAH HaZE| Ql gk | Q3 Z|CH gt
A | 232 | 116 | 5.81 | 16.86 | 0.00 | 0.00 | 0.00 | 2.30 |100.00
wz|8F| 42 | 0.85 | 1.38 | 1.86 | 0.00 | 0.34 | 0.89 | 1.82 | 11.32
S o= 097 | 125 | 073 | 036 | 067 | 110 | 1.62 | 357
X2 13] _|am| 168 | 1.94 | 6.41 | 16.64 | 0.00 | 0.00 | 0.00 | 3.60 |100.00
_/'\_% AI‘%% %E‘I- = . . . . . . . .
S o= 168 | 337 | 434 | 020 | 092 | 1.80 | 3.80 | 27.11
Ax 22 | 074 | 969 | 2935 | 0.00 | 0.00 | 0.00 | 0.00 |100.00
42
o= 048 | 145 | 222 | 006 | 033 | 0.41 | 127 | 7.55
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= MEE 33t 23 ¥
" e Odds OR 95% A&7zt B
H H = Ratio St et p—value
A 1.000
= 1.636 1.196 2.238 0.0021
54M 0|5t 1.000
o124 55~64A] 2.068 0.920 4.650 0.0788
=< 65~74A| 2.859 1.305 6.264 0.0087
75M 0| Af 4.911 2.306 10.461 <.0001
S 723 1.000
o=z 1.682 1.106 2.556 0.0149
Z23EN = 1.000
4294 A U o AREN S 0.502 0.354 0.712 0.0001
A U ANHMAEF S 0.780 0.088 6.949 0.8239
0F 1.000
Aol 17 0.798 0.446 1.430 0.4490
A x| 4 o 0.788 0.439 1.414 0.4239
38 o4 1.561 0.982 2.480 0.0596
18.5 O] gt 1.000
18.5~24.9 0.365 0.250 0.534 <.0001
BMI 25.0~29.9 0.281 0.172 0.461 <.0001
30.0 0|4 0.448 0.171 1.174 0.1023
R 1.063 0.211 5.361 0.9414
17 1.000
o 2.562 0.791 8.305 0.1168
ASA F & 33 6.800 2.096 22.058 0.0014
4% oM 18.179 5.303 62.321 <.0001
HESE 5.988 0.541 66.270 0.1445
. ot 2 1.000
sthes o of 2.264 1.680 3.050 <.0001
17| 1.000
of u] 27| 1.529 0.834 2.805 0.1700
37| 1.548 0.852 0.814 0.1515
47| 2.062 1.105 3.847 0.0230
ot A A ot 2 1.000
7 e of 0.691 0.466 1.025 0.0662
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ez ofn ot 2 1.000
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SAZ Z2 1tk off A4
C—statistics 0.907 10| 77248 HEE £3
Hosmer—Lemeshow goodness—of—fit test 0.4963 0.052CH 3™ WFHE RoIg




